KH

=\
;

™ H>

\
\
\
\
—

y
Y S —
=

;
=] J/
o ,
///

T
=

I
= _| eL._.0
1} IH i
1oLt 0!
! DI | | ;U.‘i
: 1 e
S
| |

F=:9
Lo
.

//
bt Pt .
4 / BN
, 2
A S B s B
\
\
\
\

/
/
/
/ ﬁ
/

T 0 T

LN HQ

[ e

= = # @D L LN

i1 e [ D0 (]

tiﬂﬂj O :
4 U

<P
3

—>

A

e
LA

110

ﬁ;
—
7
A L
74 L
RN

——— =
S

9(,:5[1 ®

172.59m |~
Hu
L[
— ‘; L I T |
e
T —

S

S

.

i

BaSEEan

—

L ﬂ )
r 1

=

NS¢§\

|
ST d oY o
— LT | >
"Q ]L &‘ L=285. 05m ‘il——:‘J
i |

N4
855 =
&

8 0<-

SmE D
i I

3 -
] L
[ C
1 1 K
It
- Pl \
[ mr ' ' ol (]
L LSS e g o e | L
5
T " I
| ' M

S IR
[ELY| = )
5 L B Yo S e B m

v
f D
1 ses DIPNS| 100 [ L1772, 5gm
N Al {23 I—=_
9 [T
L |

HCdl b
=@

QL%/J/
N @

e

£AL

L
®
N _
5 I: . m

>
]

:fj\ ,,,,,,, &) S
=7 _Jh Eany
; —

_— T~
. v
N

THOEE FEGKELEILREEE

o IREH | oenaurs (RRID)
NN BESH E
N 16 T 15 fRT FF MR
\\ % R S=1:1000 HEES
®HER 1

ff B W £ F ok # B



255 R F U B A LEHBKE ¢ 100(NSE) METIHERL=284. 114m

i ERL=284. 114m

255 BRHR

+£I-2-1 L=284.114m

_ <EEBFEKENCIPS 150>

1.000x1

F15E
FOBEYIE 675 FHTE100x 75 (GF)

(o

-t

~BAEH

As
“AVEA—OyFvy

R

11755 E §15x 950

HIVP$50 L=1.5m Fuvt X
HIZWE 950 N=3f@

BEE@4.00x1
+54+0.027x1=4.02]

=)
=

SUSHEE>

BRI 761 1

2% TFE100x100

BEE@4.00x1
+5470.027x 1=4.027

2V bY—LH 100

PEE@4.00x 15

i

5154 (H=600)

BEE@4.00x1
+540.027x1=4.021

&
<HEBRAE>

<I6SBERDE>

¢ —— —4

Al L
2% TFE100x 100

N

<WEHEH B>

<36BHARABE>

L1 'ONST ——=

5734t (H=600)
BEEed 00x1

+7450.021x1=4.

027

J“J

3

I~

s

#hE22° 1/2(HB) 3%

ZEEE@4.00x11=44.00

BEE@4.00x 1

+5450.021x1=4.021

g2 1/2(HB) 3%

@ PYE2.368x1
SIBFHTFE100% 75 (6F) +54+0.027x1=2. 3%

L=100
e B2 1/2(HB) 3%

EEE@4.00x 1
+747F0.027x1=4.027
FEE400x1
TSAF0.0Tx =402 ] © BYEL 4151
+5450.027x1=1.992

BEE@4.00x27=108.00

22 1/2(HB)

4.027 | |2.442|

H9 8 A NEHKE

0.55 0.25

$100mm METHERL =284.114m FHHMERL =284.114m

255 B &

TRNFE FETKELSILRESE
BAEHREIE (KRIR)

EHFAE (1)

fHERHT FF HR

$=1:500 - S=FREE




265 R HR

<BRERFEIKEDCIP$ 150>

R #l

% E - EE
L .

-:Co
et
SIFHTFE100 75 (6F) 52D T T ~BEY

855 025 s

5Bl (H600) ks REZ L DE )
BIEE L=5 840
BE@4.00x1 FMRIER L=6.780m
+5470.00x1=000]

5. 840m
6. 780m

Ul u
HE
H 8
£

® ®
ZH% 1.30 ZH% 1.30

<USBRSE>

©® z4%3 036

E#EE@4.00x29=116.00

¥l '0N9Z 2" 1/2(HB) B

X @ zZ4%2.000x1

J4(HB) ®
©® BYIE2 351 x1+5450.027x 1=2.378 BiE 2,503
2V I bY—ILH 100 +3470.027x1=2.530
41544 (H=600)
BEE@4. 00x1
+5440.027x 1=4.021
© BYIE2 000% 1+ 4 +0.027x 1=2.021
2" 1/2(HB) @R
SHEY I FSAR G100 < ® 52000 1+54 50,027 x 1=2, 021

. > BV T F =I5 100
REBel.0x] : FE41bE(=600)
EEE@4.00x1

. ° X +54 40,027 x1=4.027

¢l "ON9? 7 SRIBFHTSE100 X 75 (6F)
c B L=I0
SHAART5 X 65

AR (600
BBl 00x1
+5450.027x1=4.027

BEI° 1/4(HB) 5 FHTFEH100x $75

€1 'ON9Z

'O 015 3.256

ZEYIPULFDI00-

8154 (H=600) AN

LL"0N9Z 1BHEL 000

REVILI—IHP100 SIAEHE
515+ (H=600) 28 TEE100x 100

BEEL0x] HEEEOL0x1 <sbung>

+5450.021x1=4.021 +54F0.027x1=4.027
#E22° 1/2(HB) A%

a)
HI% 3.085 @z

<B6SHREE>

4 Tm, iR 4. Tm

I3

X

b rv2

BIER [
<IEEHERSE>

01 "0N9Z

015 HE# % @4. 00 x 27=108. 00 4.027x2=8.054 0.45
3.085 ) )

2658 XU 2 A ILEHHE O 100(NSEY) METERL=284. 11m  #HREKL=285.05m

t+I-2-1 L=278.27m
+T-2-6 L=5.84m

FOBANEHEHKE ¢100mm MIERL =284 113m FHEEEERL =285 053m

ro-onee——————————

=4 FOD&AES ¢ 75

X
1775 5E @15 $50

HIVP 650 5m
HIZIE @50 N=3f@

£
&

REBEAE >,

]

=3
=
=

g ‘QQ
%

G

<3e%%a€%?%> ®
I

o

265 B 4

Taay | THNEE FENKELELRESE
BAEMRELS (KR2IK)

HE %% EHHFME (2)
1 T 45 fHERHT FF HR
] R $=1:500 - S=FREE
HEHEAR

fE @ £ F kK @

= 7
P

—




215 R

215 HIR FU 5 A ILEHHE ¢ 100 (NSE) HETIERL=150. 72m  FHERIEKL=150. 92m

L=145. 49m
L=5. 23m

R

-£E

(o
~t
~BAEH
AS
A VB—RyFUY

N
=

<BEBRNE>

—

A2 A1
a0l e o

A2\ A2
675 | 676

<BEBEHE>

X

T\LJ‘? L1

|

ar

ot
T =

<5EREIR>

I

68373M‘ o
A-4 68312 A-4 682
A- A2

o

28NO, 10

5 5

el

677
4o OLON6Z q

<VEBEE>

2

SHEXE 975 (NS:
Tm, ARER L4 Tm

50594 (H=600) N\

285 PRI

2B

ZHY I b0
575+t (H=600)

R
—

),

I9ANEEIXE & 75 (NS

B ANEHEHE $100mm MHIERL=150.72m MEEERL =150.92m

<BEBESE>

KR

<BBHRBAE>

FEE@4.00x1
+5470.027x1=4.027
2V I P—LF 100
61444 (H=600)

®
Y% 1.850

FEE@4.00x1
+7440.027x1=4.027

@ FYE 1.00
+5440.027x1=1.0)
ZEVI UL
HED5 B4 (H=600)
EEE@4. 00x 1

<HSHEE>

BT byl
1413 (H-600)

BEE@4.00x1
+5470.027x1=4.021
ZHEY I PU—IH 100
51544 (H=600)

FABFHTFETOX 75 (6F)

HOENERTO X 65
SHAdeH (H=600)

+7440.027x1

D

3

#Es# =100

®
BHE 3.600

+7440.027x1=3.621

BEE@4.00x 1
=4.021

4.7m HRER L4.Tm
T30

EHEE @4.00x2=8.00

BEE@4.00x2
+7450.027x2=8.054

¥

ZHE @4.00x 25=100. 00

k4

27

b= H G100

<BEBEHE>

EREE

H=600)
BEE@4 0%

+3440.027x

0

0} 50
4.027 "~ 1.850 Rtk
MIMER L=5.230m
RIER L=5.430m

4.027

WBHGLH 9 5 A NEHRE ST
BIEE |-

o
<NBHEHE> D5
8

3.627

#E22° 1/2(VB) %

MEIMEE L=5.230m
WHER L=5.430m @
Z4E 1.000

®
Z4% 1.000

422" 1/2(V8) 5%

®
BYE 2.003
+54F0.027x1=2.030

BIEK L=5077m
£I31

2% TFE100x 100

E‘W 0001

BETS

=3 FODREEDS ¢ 75
X
17305 EE 5% $50

/\J HIVP$50 L=1.5m

Izt ¢50 N=3@

275 B &

FROFE FEOKELECRESR
BAEAREIE (KRVIK)

EHHFME (3)

RET FF #R

$=1:500 - S=FREE R &% 5




ASERER - A1 SERER - 425 BRER - 43D AR

ERYIPO—LFPI5

5054 (H=600) N\

VERSRE ¢ 75 (NSED
=4, Tm, MRIER L=4. Tm

t)]’é 1.909

365 B HR

36 FUH A ILEHIKE ¢ 100(NSEY) METHERL=172. 25m #RIEKL=172. 50m

OB - MUSRE -

DJL

0 ‘ONEY

+I-2-1
+1-2-2

L=163. 87m
L=8. 38m

)

34N <37

1525848 - 46D RREE

sgEH

2RV b FDI06-
419 b (H=600)

BEE4 000

@
% 2,573

(30 Z4%& 2.000

+5470.027x1=2.600
2RTFE100x75

/

!

BEEL000x2
+7470.027x2=8.

REE 0. 450

<UBBEHE> TI

2.600 0. 4j2 027

47m|

4 Tm, MiRER L

99ANEREKE ¢ 75 (NSE)

WIER L

£T31

2V I b—LH 100

#6H

<USBERAE>

2ZTFE100xT5

BRI e 0

A
=
xR
g
58
e
=
v

QJJE 2,000 TYE 2.

+5 4 F0.027x 1
10075

F2.027

REE

2ETFEI0xT5
/mm
%%Wib—*ﬂ—ﬂb%

#

REEL 000
+54F0.02Tx1=4.02

2V T Y=L H100

/I3 (1=600)

FHT=E100 % 75 (6F)
L

<RSHEFHE>

(c]

L s,

5

2.519 |0.450/0.450| 4.027

1> —p

0. 500

47‘0 027x1=4.027
000

027x1=4. 02,

0.550 REE @4.00x7=28.000]0. 450{0. 450

BRI >

E100x 75

REYIPI—LHH100

[ HEE3H (t=600)

ZHYI P F 100

/55 (H=600)

EEE4.000

EEL. 000

4

1P b

g

!

4.027

450.027x 1=4.027

I +0.021x 1=

R E4. 000

-£E

(o

~t

~BAEH

AS

A VB—RyFUY

R

FE 2000

I +0.027

@4.00x7
=8.000

@4.00x
=28.000

SRR FUF A ILEHHKE ¢ 100(NSE) HETHERL=172. 25m FHEZFERL=172. 59m

@JJEZ. 391

54 F0.021x 1=L418
M*—'WIP—*MHID\/\;—’

23TFE100x100

T semese>

\?ﬁ

+J4F0.027x1=2)

REERD

<NSHENE>

?

ZTFE100x 100

mE RS &4.000
+54F0.027x1=4.021

RV I F—LF 100

[ H505 4 (H=600)

84 000x2 /

e

P4 10.021x2=4 054

8.054 4.000

/ t: ) BHIE 2.000

D<o — D —— D —— e

RigE

FE TR L=5.000m
FERER L=5.230m

2. 600_|0. 500|

IR [=3.380m
ERIER L=3.490m

A AP

<USHHNE>

2RTFE100x 75

e e

<YTSBRDE>

£

<3BEBENE>

0.150
0.3

1208 5%

1=4.021

K ER QBN

ﬁt"ﬂ@

i 1/2(B) F%

5 4$0.027x1=2.027

BED 1200 R |

—F

B2 1/2(VB) R

o
S
=)

FYE 1.423

+74+0.027x1=

1.450

365 B &

TRIFE FENKELELRERE
BAERREIE (KRIR)

EEHER (4

PRH FF #R

$=1:500 - S=FREE




315 R

R
R

(o
%
~BAEH

As
BB H Y 5 A LERE G100 NSE) R o
FETIEEL=41. (5n A5 RIEEL=41. 94n A VA—AYXYY

ISR >

385 R

3SR
FEYIPULIDI00T RO
515 B (=600) #

1BEEL 000

4. Tm, RER =4 Tm |

D5AVEARKE ¢ 75 (NSE

BIER L

+£I3-1

9.93m

BEEL 000

/ REYIEI—LEGTS
098 (H=600)

2%

i FIETFET5XT5

Ib—\vﬁx/\din D—\—p LID GG DA DA D] s
@

D
@t}]ﬁ 2.000 @ﬂ%‘ 2.973 BEEL 0002

+5440.027x1=2.021 +p 4 +0.027x 1=3.000 +5470.027x 2¢8. 054

L4
2BTEE100x 75 +540.027x1=2.625
RV I FY—LFH100
505 (H=

9.93m, HRER L

<35EBRNE>

FODBAL NS ¢ 75
H750 BE 15X §50

HIVP$50 L=1.5m
HIZIA 950 N=3{8

t— —4
<UBBHBEHE>

1%
i

i MEREEE 9 15

BIER L

<IGFHERSE>
+hy Are R A Ak
N RSN Sy

£I31

SSE R

2RTFEI0XT5
(B3t L)

BEEL 000
+3430.0271=4.021

0.450| 2.027 RigERD By 2.124 RiEH 2.625_| 0. 450
) TELER L=1. 780 ) ) " @4.00%3 " TELEE [=3.990m " " 0.1
WRER L=1.890m =12.000 EHER L=4.670m ’

JISHEB FU 2 ANEHHE I100(NSR!) METIERL=41.15m FEKIERL=41. 94m

s ot " s b ¥ ’
RS ER Db RS AR QM E
Rt & R 5B
FETZEE L=1.780m M_IEE L=3.990m
msEs L1 oaon R L4 cron

25

#hE22° 1/2(VB) A

ok
-

1600 BASHRETH (ARIIR)

1900 : EREREE (5)
GE® TP EA

$=1:500 - S=FREE

375 B &
L Y% 1.600 l TRNFE FETKELSLRESE
5 5




VP ¢ 50 DP=1.00m

DCP NS ¢ 150
DP=1.00m VP$ 100 DP=1.50m

VU200 DP=1.20m VP$50 DP=1.50m VU200 DP=1.20m VU200 DP=1.20m

DCP__ NS ¢ 75
500 DP=0. 60m

VP$ 100 DP=1.50m
VP$50 DP=1.50m VU200 DP=1.20m VU200 DP=1.20m

VP75 DP=1.50m

24 NO. 14

S

DCP__ NS¢ 75
DP=0.60m 500

DCP__ NS ¢ 150

DP=1.00m - " 4
- _ _ THNEE FETKELGLRESR
VU@ 200 DP=1.10m VU@ 200 DP=1.10m VU@ 200 DP=1.10m EKEARELS (KR2IR)

VP$75 DP=1.50m VP$75 DP=1.50m DCP__ NS¢ 100
DP=1.00m wEER (1)

#RHT FF #R
s=1:100

# B2 W £ T




e

VU200 DP=1.30m VP$50 DP=1.50m]| VU 200 DP=1.20m VP$50 DP=1.50m]| VU200 DP=1.20m

VP$ 75 DP=1.50m

w—m/

VP ¢ 100 DP=1.50m

VU200 DP=1.10m VP$50 DP=1.50m VP$50 DP=1.50m VU200 DP=1.30m

DCP__ NS ¢ 75
500 DP=0.60m

VP ¢ 100 DP=1.50m VP$ 100 DP=1.50m

VU® 200 DP=1.10m TRNEE FETKELSLRESE

VU200 DP=1.30m (WU¢200 DP=1.20m RAEFRELS (KRIIK)
HwEEE (2)
BEH FF MW

s=1:100

VP$75 DP=1.50m




DCP__ NS ¢ 100
D 60

VU¢ 200 DP=1.10m

VP75 DP=1.50m VP$75 DP=1.50m VP75 DP=1.50m

VP# 100 DP=1.50m

VU@ 200 DP=1.20m VP50 DP=1.50m VU®200 DP=1.10m
- VP#75 DP=1.50m

VU200 DP=1.00m TROEE FEHOKELELRESR
BEAEAREISE (KR2IR)

REER (3)
#ET FF #AN
s=1:100

VU 200 DP=1.20m VP$50 DP=1.50m VU200 DP=1.20m
VP75 DP=1.50m VP75 DP=1.50m




VU200 DP=1.30m

VP75 DP=1.50m

R

4340
342
1300 |600|

DCP__ NS ¢ 75
DP=0. 60m 500

VP$50 DP=1.50m _ VP$50 DP=1.50m
VU®200 DP=1.30m VU200 DP=1.50m

TRNEE FETKELESLRESE
BEAERFELSE (KR2IR)
HEER (4)
fREHT FF HA

(VU$200 DP=1.10m_ VU200 DP=1.20m
VP$75 DP=1.50m VP75 DP=1.50m

R &% 5
10

il




T TiZ#EMmEmR (1)

+ T -2-1 + T -2-5 + T -3-1
(%% YH=600) (DCP ¢ 100) (£# YH=1400) (DCP ¢ 100) (% YH=600) (DCP ¢ 75)
SRENE - 181815650 g - 11818650

HEEEE SEEEE e _
#EI: @HE7A3> (20) 5om #BI:@HE7AI> (20) 5om RAINE - 1818

fHEREES
REL: BHET v (20) 5cm
J— LI2BEE (310D 1.0n24 1) J - AR
B T | 20m " . .
% W& T | 0.6m = zoJmOMé]L)
BB | 08 2R 3 0, 60m?
BWEAT 0.43m3 (RC-40) , .
1 = (RC-40) | 0.29m3 1.0n%Y 0.60m2
- . ZIm.,
2.00 B 0.39m3
BRE (J2F 9973) | 0.13m3 q 65:2 B E (RO-40) m
RIMET(EH) | 0.4md LRl
: o 0.65m2 BR # 99vav)
BLMEL (hsh'3) | 0.03m3 0.95m3 S BINEL(1H)
&= (RC-40) | 0.8Im3 RLWET (hsh 5)
BEBVF 9753%) | 0.13m3
BIRET (£8) 0.95m3
REWET (Ash'3) | 0.03m3

+ T -2-6
+ T -2-2 (HYH=1700) (DCP¢100)
(THYH=1100) (DCP100) I

SR - 15 IH1E650 £BI:@HETAI> (20) 5om
i il

HEFEER .

REL: BHEFZ2Y (20) 5em / Rl

ikl

BRER
(RC-40)

) 1.0m%4 Y
2.00m
12 & (RC-40) 3 0. 65m2
BER #v h9vay) _ 0.65m2
BINET(LH) 1 : gfmg
BIMET (Ash'7) m
ER W 99v3y) 0.13m3
BIRET (£8) 1.15m3
BEIMET (Ash'7) 0.03m3

THIFE FENKELELRERR
BAERREIE (KR2IR)

TIRENER)
#EHT FF #HA
S=1:20

# B2 W £ T



ARERHGKE

SKROE : HKOES 6200155 ¢ 20mm

A4 T
#HKOE<¢92

L E#HKIEE

# Mt k42 (DIPIE, {v4-ta7fE )
# [2&% (¢300~75)

B4 7

#BKAE=¢25
EHIHE

S8 Sk 5 o}

AEP150~75( DI P)

BRIKE HIVP)

A-4-FRak ki GRRARFLE R Anvh Mt - HRR)

5 uE7KFR60° A" vb Ovh”

#ME 5 k48 (DIPIE, {v4-barfE )

Hl4¢y7"

{EI7E300 x 300

ENIIN ERLIR-1

OofifigE AR IBT

HKENLIHER (¢

Coi I T

Cofi ¥ MU iE T

oW R A T

BER(RAL)

C o ## H T

ENLIM-2

+4Y 600

jo
o
™

ERIEAI

bt ]

T BRERLIHER (6
=1.5m

HIF0.30m oW R AT

BR(RAL)

ERTIH-3

FdEbFI(RO-40)
t=5cm 300

]

HBKENLIHER (200  Im%Y
Bl T| 0.09m3

A 0.08m3

t)
RC-40) 0.30m2

ERTIR-4

AsEREEEURIEIBT
300

-

HKENLIHER (¢

AsE i T

Asti £ R iE T

oW OE AT

BR (KRB L)
As# 1B T

ENLIR-5

A28 -0y ¥ JMEEIAT

HAKENLIHER (¢

v5-0yFVIREERT

oW R AT

BER(RAL)

FHOFE FEIKELEIRERR
REAEHRREIE (KRIR)

EFRAIREHAER

R &% 5

12

il



EBERY Y AEER

@75~ ¢ 150

$ 20000 £
TR ET TR ET
(£# YH=0. 60~T. 20m)

(X% UH=0. 60~1. 20m)
§s=1:10

§=1:10

BB Y HEMIEA Y

7 v — Bt S

7V — iR TS

)57 oy) Sk (32
[§2=1

530 x 470

77777
HH7” Oyy 32B30%

4 #7209 258108

O KR (ZHE)) 1y
BE 53x47% (HHY

7" By 32C20%
U7 09 25C208 H=600 L51($25C30 L% &
H=600 LIANE25 G304 R

257 60
600%250%70

257° 80
800x300%75
214 22222

2814

JOy U sahER

JOy yHAEHER

& W o

Joyvo#aahER

& ™ )
it o # a v

# &
it o # a v

®oo®

BOHXR(ZRF) IO |8KEF 35x 458
B10E!
B20%

om

23780

THOEE FEHKELELEERE
EAERREIE (KR2IK)

BERY I ZHMER
BES FTF #R

s=1:10 R &% 5
13




	

